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QUESTION 1

What is the function of the 0xFFFFFC address in a Fibre Channel fabric? 

A. management server 

B. fabric controller 

C. name server 

D. time server 

Correct Answer: C 

 

QUESTION 2

Refer to the exhibit. 

What is the result of merging the fabric? 

A. The merged fabric IVR VSAN topology is set to activate. 

B. The merged fabric has NAT enabled. 

C. The merge is invalid. 

D. The merged fabric contains only service group Group1. 

Correct Answer: D 

 

QUESTION 3

After a subordinate switch requests a domain ID form a principal switch, the requested domain ID becomes the runtime
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domain ID, and all interfaces on the affected VSAN are isolated. What is a solution to the issue? 

A. Add the received ID to the allowed list. 

B. Configure a static domain on the subordinate switch and reboot the switch. 

C. Enable the FICON feature on the affected VSAN. 

D. Configure IVR NAT on the affected VSAN. 

Correct Answer: A 

 

QUESTION 4

Refer to the exhibit. 

What is the result of the configuration? 

A. No-drop CoS values are advertised by the DCBX. 

B. LFC is prioritized over PFC on Ethernet 1/10. 

C. PFC operates on Ethernet 1/10 regardless of the capability of the peer. 

D. PFC fails to operate properly unless LFC is disabled on Ethernet 1/10. 

Correct Answer: A 

 

QUESTION 5

Which command identifies the application and the user that have a Cisco Fabric Services session open? 

A. show cfs application 

B. show zoneset active 

C. show cfs lock D. show device-alias database 

Correct Answer: A 
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